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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given

instructions.
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Section-A

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.
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Complete the following reactions :

R

@) >C=N2L> A+B
R
0
1
(b) NaOH

e srfufsrensti =61 qof =ifsT

(a7) >C=N2—>hv A+B
R
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(i) Give the product of the following reactions :

O

Peroxy acid
— 5
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(iii) Describe HOMO and LUMO.
HOMO Ten LUMO & R § sasu|

(iv) What are benzynes ? How they are formed ?

AT F T ? TT HA T B ?
(v) What is intersystem crossing ?

ST e R BT § 2
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(vi) Which conformer of dihaloethane is more
stable in polar solvent and why ?
TELANTIT 1 DI T&IU g faemas & o
T iR w2

(vii) What is leveling effect ?
THAC YT 1 B ¥ ?

(viii) What is Barton’s reaction ?

gRe stfufsran = § ?

Section-B 4x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries

16 marks.
LTug—d

(g T q99)

feor .- fo=l 9R weAl & SW SIfSUl T o9 I AN

sifasram 200 I B Ui STl TodE T9H

16 3% =1 B

MSCCH-06/7 (4) T—418



2. Discuss the cycloaddition reactions of carbenes.

e i =R AT SArafRansti &t fae=m wifsa |
3. Write short notes on the following :

(1) Curtius rearrangement

(i1) Pericyclic reactions

W dfara fewfort fafen .

() wfeam qEE=E

(i) i sifufemand

4. (1) Discuss the role of nucleophile in elimination

reactions.
TSR w1 fodi sfufEasl ® g
foa=m e |

(i1) Write about Wagner-Meerwein
rearrangement.

FR-UREH A9 & 9 | SaEu|
5. (i) Write the mechanism of Di-t methane

reaction.

Di-n 9= sifufsran =t franfafya samw)
(1) Explain photofries rearrangement.

RRIHE YAfO=E % THEY |

MSCCH-06/7 (5) T—418 7Turn Over

. Explain the following with mechanism :

(i) Reimer-Tiemann reaction
(i1)) Ring expansion of indene
CH;

KNH
(iii) ——=> A+B

Cl

(iv) Ene reaction
=1 =1 foranfafy wfeq wweET .
(i) TER-IHE TR

(i) =W & 9o &1 fg=R

CH,

(iii) SLEAL- IR
Cl

(iv) ¥ sifufwen

its biological importance.

. Explain the photosensitizer isomerisation and give
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g ol oaEu|

MSCCH-06/7 (6)

T-418



8. Explain Curtin-Hammet principle. Also give

derivation for Curtin-Hammet principle.

FHfcA-2he fagra &1 GA9RT qu wied-ghe fagr
Tl Feaa ot FT

9. Write short notes on the following :
(1) 1, 2-photochemical addition reaction

(ii)) Applications of photochemical reactions of

the aromatic compounds
= m dfara fefort fafen
i) 1, 2-geR-UErEfie Armee sttt
(i) wEfew Afitwt Ft gwR-TaEHS stfuafmanstt =1
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